Error Analysis Answer Key
EXPLAIN

Sample answer: The elements in (A N B) should be
the elements that are in the universal set but are not
inA N B. Tamara included only elements that are in
A or B but are not in the intersection.

SOLVE CORRECTLY
ANB={3, 4}
(ANB)=1{1,2,5¢6,7,289, 10}
C=1{3,9

ANB'NC={9}

Answer Key

1. C

2. A

3. D

4, D

5. A

6. C

7. A

8. n(AUB)NC:T1,3,4

n
In((AuB)NC):2,56,7,8

9, %; Sample answer: If the evants are independent,

then P(A) - P(G) = P{Fand G). ¢ P(G) = 3. So,

3
PG =g+¢=2

10,46, B

il.

12.

13.

14.

yes; Sample answer: A N Bis the set of elements
thatare in both Aand B. AU Bare the set of
elements that are in both A and Band are in either
AorB. So, all elements in the intersection are
also in the union. Since the empty set is a subset
of all sets, this holds even if the intersection is the
empty set.

Part A Sample answer: You could draw one
name, give the first prize to that person, then
draw a second name, and give the second prize
to that person.

PartB Sample answer: You could draw one
name, give the first prize to that person, put that
person’s name back with the others, draw a
second name, and give the second prize to that
person.

Sample answer: MU P, (NN P)’
Part A
Sample answer:
A
N
PartB

Sample answer: The elements 1 and 8 could be
in the portion of the intersection of A and C that
isnotin B. The elements 3 and 6 could be in the
portion of Unotin AU B U C, or they could be

in the portion of Cthatis notin A or B.

Lesson 30: Probability 69



